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Review Sheet: Exponential and Logorithmic Functions Date

Expand each logarithm.
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1) log (—)
%

3) log A/8-7- 11

413
5) log, (x—)
y

Condense each expression to a single logarithm.

6)  In5+In7+2In6

8) log, x +log, y+6log, z

log, 6

g3

10) 4log, 7 +

Rewrite each equation in exponential form.

11) log, 32=35

1
13) log 19 E =-2

1
15) logla=2

2) log6 (u4v4)

4) log, (u6v5)

7) 4log, 6+ 3log, 7

9) 18log, x —6log, y

12) log, 125=3

14) log, 216 =3

Period



Rewrite each equation in logarithmic form.

16) 4> =16
18) m*>=n

20) a ' =b

Find the inverse of each function.

21) y=log, x°
23) y=log, (-3x)

25) y=3log, x

27) y=%

29) y=3"+38

Solve each equation.

31) log,, (-2x-6) =log,, (x+9)
33) log (2k —4) =log k

35) log, 1 =log, (1 —4x)

37) log, (x—4)+10g64=10g645

17) x =y

19) 12°=y

22) y=-10log, x

24) y=log, x°

4
26) Y=

4
28) y=—"-

30) y=3"-10

32) log  (Sa—1)=1log , 4a
34) log ; (p+5)=log13 (2p-4)
36) log, (x+6) — log, 2=2

38) log, (x—10) - log, 3=2



39) log, —x +log, 8=35

Sketch the graph of each function.

41) y=log, (x-2) =5
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43) y=log, (x+2) =5
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40) log, Sx—log, 7=1

42) y=log, (x+2) =5

Y

44) y=log, (x=3)+5
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47) y=log, (x—1)+2
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49) y=log, (x+6) +5
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58) y=5-2"
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Answers to Review Sheet: Exponential and Logorithmic Functions (ID: 1)

1) 6log u—3logv 2) 4log, u+4log, v log, 8 log,7 log, 11
3 3 3
4) 6log, u+Slog, v 5) 12log, x —3log, y 6) In (35-62) 7) log, (73.64)
8) log, (yx:°) X 10) log, (7*3/6) 1) 2°=32
9) log, —
y
3 1 3 2
12) 5°=125 13) 192 =L 14) 6° =216 15) 11
361 9/ 81
16) log, 16=2 17) log y=—4 18) log, n=3 19) log,, y=x
20) log, b=~7 x - 5"
21) y=6> 22) y=4 " 23) y==7
? ? 26) y=log, 4x 27) y=1n 3x
24) y=5 25) y=5
28) y=log, 2x 29) y=log, (x—8) 30) y=log, (x+10) 31) {-5}
32) {1} 33) {4} 34) {9} 35) {0}
36) {44} - { 61 } 38) {85} 39) {-128}
4
41 42
40) {ﬂ} ) Ay ) Ay
5’ [s] [e]
8 46 4 2 4 ¥ 8 16 14 D ) 4 X
1 1 7: I
) /]
-8 _3;
43) 44) 45)
Ay Ay Ay
8 46 14 2 4 X B PP 4 X ® PP 4 %
: — :4 :4
=3 —8' =8
46) 47) 48)
Ay Ay Ay
| 1 |
® PP 4 ¥ B PP 4 X -8 -6 fl4 ﬁz’q 4 ¥
:4 — :4 :4
=0 // =0 =0
=8 ‘vl =3 =3
4




A A A
O O
< < < <~
o \ o +
o
< = 1> < L 1> < — > < >
(==} <
ERE IR oole S EEREEEE S EEN > I EEEEEE: BEEEEEEE
_ == _ i i _ T _
Y Y ¥ T
]
7 7 7 2
( Y Y Y
~~ ~~ ~~ —~
— <t >~ ]
w w w \O
\ =
»ﬁ A A A
| . °
/ ~+ - <+ <
N [}
- =
el N T
<3 1 e S > < > < N
e AR EEEEEEE] 2 —~p o § ¥ & & g S8 F Qe Py oY
T i | I S | | i
i 7 7 T
o)
_ P P e
it
4 Y Y (
~ ~ ~ ~
o ) o N
w) w w w
\ =
A A A
O O
~ <+ < <
(o] o
-~ T d B—
i ] nﬂ A < o P qg il O o O V A O ®© O ¥ ¢ D et 5 1 OV A P ®© o i+ q P UIA g OV
7_. ﬂ | = iR - =6 Pt ) u\-‘.m ~ Do TR R =R ET R R ]/ ~
/ i | | i i
¥ ¥ Y \+
N & ? ¥
.
4 Y Y Y
~~ ~ —~~ ~
(@) (9] w o0
<t n v he



